Lt FREHS2 AHHQl staat ofY gF 0l Chiet 7ot 0% FLICh Of
o] d850 dSS Hiets FRE2 AFBL2ZRH HXE AOoIX[R. 2Lt
Al #RES9l 20|Lt =30 23|28 A2 of50f Cict S0|°t 2|85 Eoj=
Sk

=]

R ot rir

2| K= FESNR? Ol w2HE AHS| st oj&s STUAPIL stas
Re¥oz EoIE & U= R 7| LES AIHStaAt ghLjct
Hrh= =0/0] A[Zt2 © BO| gofst=
7|s0| 2AHeR YEHY| O|H0|2R otg Al
UELICh
g1 e HEe| 7|8ts otdEsts 20| o East

D sassolt Almg A Al Folsjof 3 ARFEOl ISLICH

o FHIO ZRI7IL} OOF7|T2 = A|ZfSEALL ShHol ofHnt 20| RO F2H FHT
o= M o= A2 CiYet 27 SEHE = AFLIC

o TFOF Al StA EICHH Ootsuh &2 CielE &3l 1 g0 o2{Z0] SleX| eIstEA
F7Hez AHES = diFcs A0l ERYLCh o EolHEM =F siF= A0
OtLlzl, RFEZAM Of% AE & 7Al ol =& siL7ts 0| SQYLICL

© =SS [ AHSHE Mo MAsiE2 23| AP|FEsts 58S 78 = Ue
71zlet Higel EAHES € 7I=IE A g & UAFHLE

E-‘.’-EILHHHIM RS A0F HAWO| JHE 2 AEYA Q012 SY AEHAASLICH

o
wdo| ZEstn JUE XS oA

—_—
N
0

|u

27| Of2{AIZKIE 2014HE XA F-1 -
D810] Y H(68%) > LSLRLI%) > P U Z5183%) > TR 2 BT >
RS

+ ASHEW 1S YO TS Zmo| ook, ST 4AIZ Ofcte] AmSE We ofo|
S 10% HEo| P22 Ol WR, ST 4AIZH Ol AmSS we oSS 30%
osfo| 0tolS0| PEFAE BYSLICt



Exm: CHE ofole} HBHX| Sk= 20| ZHLct.

CH2 00| JIEO2, RSt HImSHE A2 XOIEFZ0| SLRS AXE & YLt
« ®2Yo| XHfo| SHIt 52 WOHYO| EHt0] FAD FH FAE UL, KA 3
T BEE © Bl A 5D A B

o
[=} =
s AH7F 2 A =[B Mo Chet 2% 55 7L £l 0l Eud|

. BB ZIHE ool = QU Mzl ME, FH B AE FY ACH S O 9
Olo| Yarg we 4+ ULt

. Ofo] AxZ ZHE 4 Qb 220 U B o0|S Rojohi| =¥ 2P| AW Y
{Ick

= FAL,
5 2
AY Sat E*% Yol S0 WRIX| REE S 7IS0l= A

-

Ve
o
oxt
b
L
>
e
5
o
fO
rot
-0

e[tz k= Sttt SFE =S
{te| Z2S0|2tn E.“—IEP ’SE.E.L*OI OPOI% E“FJ&E JHX[e] METL E
Lot 5 20 f2| Of0|Ee| Axet sHI S5 = & Bt i’iﬁ'—lﬁh
&2 EAFY| M= Felst dY¥stES TASHALL Sl
FEEYMHAM BHS 71X AH{stn FESks Ao| FSL L

s OIS 22 Z9E 390l MU2 B 8 FMUSEHE 7HND U 7HsHo|
U710 OFEtE X|7| WChs MEJto| 280 WRY 4= ULt

. =22 Y YL 23 5 SN BEE of2Ycts FP

. B0 FX WALt FEHY

« BORID HHO| RLPAA AL ASHAT NBt B

. OHIt 2| LBHAL 7|RHS0| Nt ZS

. HIENOALL BY BRIt Uk B

. €IS U 4 gloL} NAHOR 30| LAY FP

2018 108 S4I=S=tus

= woHEE WSt CiotaoPg A EY Lo s(0f 2|=[5te Aot “AHA AtESH |
8=20|H, & 102(0f] 2N 7P = HWERL|CE




